
QUIZ – common errors 
 

1. (85%) Given the following Statements, circle the right ones (possibly more than 

1). Correct the wrong ones. 

 

a. 2 2 2( )A B A B    

 

 

b. A
0
 = A 

 

 

c. 
a

b
a

b

   
 

 

 

d. 

2

a

bb

b a

      

 

 

e. 
1 b

a a

b

   
 

 

 

f. –62
 = 36 

 

 

g. (–4)
2
 = 16 

 

 

h. B
–1

 = –B 

 

 

i. 2 2 2( )A B A B    

 

 

j. 
2 2

A B A B    

 

 

k. x
1
 = 1 

 

 

l. 0
0

2   

 

 

m.  2 24 4x x  

 

 

n. A B A B    

 

 

o. 
2 24 4x x  

 

 

p. 
0

0
3
  

 

 

q. A
B

ABB 
1  

 

2. (15%) Give an example of an expression: ___________________.  

 

Give an example of an equation: ________________________.  

 

Explain the difference: 

Name: ________________________  Date: _____________________ 


